
𝒇 𝒙 = 𝒂𝒙𝟐



𝑓 𝑥 = 𝑎𝑥2



▪ 𝑓 𝑥 = 𝑎𝑥2

▪ 𝑓 𝑥 = 𝑎𝑥2

▪ 𝑓 𝑥 = 𝑎𝑥2



𝒇 𝒙 = 𝒂𝒙𝟐 + 𝒃𝒙 + 𝒄
𝑥ϵ 𝑅

𝑎, 𝑏, 𝑐 𝑎 ≠ 0



𝑓

𝑓 𝑥 = −3𝑥2 + 4𝑥 − 1

𝑓 𝑥 = 3𝑥 − 2 + 𝑥2

𝑓 𝑥 = −𝑥 + 5𝑥2

𝑓 𝑥 =
1

2
𝑥2



𝑓 𝑥 = −3𝑥2 + 4𝑥 − 1 𝑎 = −3, 𝑏 = 4, 𝑐 = −1

𝑓 𝑥 = 3𝑥 − 2 + 𝑥2 𝑎 = 1, 𝑏 = 3, 𝑐 = −2

𝑓 𝑥 = −𝑥 + 5𝑥2 𝑎 = 5, 𝑏 = −1, 𝑐 = 0

𝑓 𝑥 =
1

2
𝑥2 𝑎 =

1

2
, 𝑏 = 0, 𝑐 = 0



𝒇 𝒙 = 𝒂𝒙𝟐

𝑓 𝑥 = 𝑎𝑥2 + 𝑏𝑥 + 𝑐 𝑥ϵ 𝑅

𝑎 ≠ 0, 𝑏 = 0, 𝑐 = 0

𝒇 𝒙 = 𝒂𝒙𝟐



𝒇 𝒙 = 𝒂𝒙𝟐

𝑓 𝑥 = 𝑎𝑥2

𝑎 ≠ 0
𝑎 > 0 𝑎 < 0



𝑓 𝑥 = 𝑥2 𝑔 𝑥 = −𝑥2



𝑓 𝑥 = 𝑥2

𝑔 𝑥 = −𝑥2

𝑎

𝑂𝑥

x -2 -1 0 1 2

y 4 1 0 1 4

x -2 -1 0 1 2

y -4 -1 0 -1 -4



𝑓 𝑔 ℎ

𝑓 𝑥 = 2𝑥2 𝑔 𝑥 = 5𝑥2 ℎ 𝑥 =
1

3
𝑥2

𝑓 𝑥 = −3𝑥2 𝑔 𝑥 = −2𝑥2 ℎ 𝑥 = −
1

2
𝑥2



𝑓 𝑥 = 2𝑥2

𝑔 𝑥 = 5𝑥2

ℎ 𝑥 =
1

3
𝑥2

x -1 0 1

y 2 0 2

x -1 0 1

y 5 0 5

x -3 0 3

y 3 0 3



𝑓 𝑥 = −3𝑥2

𝑔 𝑥 = −2𝑥2

ℎ 𝑥 = −
1

2
𝑥2

x -1 0 1

y -3 0 -3

x -1 0 1

y -2 0 -2

x -2 0 2

y -2 0 -2



𝒇 𝒙 = 𝒂𝒙𝟐

▪

▪ 𝐷 = 𝑅

▪ 𝑍𝑊 = ;0ۦ ሻ∞

▪ 𝑓 𝑥0 = 0,

▪ 𝑂𝑦

▪ (0,0ሻ

Jeśli 𝒂 > 𝟎:



𝒇 𝒙 = 𝒂𝒙𝟐

▪ 𝑓
▪ 𝑓

• (−∞; ۧ0
• ;0ۦ ሻ∞

▪ 𝑓
• 𝑦 = 0
•

Jeśli 𝒂 > 𝟎:



𝒇 𝒙 = 𝒂𝒙𝟐

▪

▪ 𝐷 = 𝑅

▪ 𝑍𝑊 = (−∞; ۧ0

▪ 𝑓 𝑥0 = 0,

▪ 𝑂𝑦

▪ (0,0ሻ

Jeśli 𝒂 < 𝟎:



𝒇 𝒙 = 𝒂𝒙𝟐

▪ 𝑓
▪ 𝑓

• (−∞; ۧ0
• ;0ۦ ሻ∞

▪ 𝑓
• 𝑦 = 0
•

Jeśli 𝒂 < 𝟎:



𝑃 = −
1

3
; −

2

9
𝑄 = 2;−2

𝑓 𝑥 = −2𝑥2.



𝑃 = −
1

3
; −

2

9
𝑓 𝑥 = −2𝑥2

𝑓 −
1

3
= −2 · −

1

3

2
= −2 ·

1

9
= −

2

9

𝑃 𝑓



𝑄 = 2;−2 𝑓 𝑥 = −2𝑥2

𝑓 2 = −2 · 2
2
= −2 · 2 = −4

𝑄 𝑓



𝑎

𝑃 = −2;−12 𝑓 𝑥 = 𝑎𝑥2.



𝑃 = −2;−12 𝑓 𝑥 = 𝑎𝑥2

−12 = 𝑎 · −2 2

−12 = 𝑎 · 4

𝑎 = −3

𝑓 𝑥 = −3𝑥2

𝑎 = −3 𝑃 𝑓



✓ 𝑓 𝑥 = 𝑎𝑥2

✓ 𝑓 𝑥 = 𝑎𝑥2

✓ 𝑓 𝑥 = 𝑎𝑥2




